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Polar Form of a Complex Number

Rectangular form / Cartesian form: x + iy

Polar form / Modulus argument form: r(cos 6 + i sin 0)

15 Jan. 2013

Polar Form of a Complex Number

Rectangular form / Cartesian form: x + iy

Polar form / Modulus argument form: r(cos 0 + isin 0)

X+ Y

r = modulus

0 = argument
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Complex Number Polar Form

x + iy
r(cos 6 + isin 0)

Use calculator
[Radians]
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(b)

x + iy
r(cos 0 + isin 0)

r = modulus

o+ bi| = [a=+p

6 = argument

Polar Form
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Example 1
C

J
Express in the form x + iy these complex numbers:
= T isin & = T isin T
(a) z, = 12(005 e +isin 6) (b) z, S(Cos g +isin 8)

Z, IZ(\% +')J;)_) = L2F b

Z,= ’5(0-41‘} + i 0%93)
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(Example 2 )

Express (—1 + #/3) in the form r(cos 6 + isin ).
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16-Jan-2013 Write the following in Polar Form

Homework @ 4-!—«9(
@ -3%
(d -2+i%2
® % -2
® (H5)

16-Jan-2013 Write the following in Polar Form

Homework
@ 2+ 4

r = modulus r= (2% +21 = ' g = 2&
&+ bi| = [a* +b
[
6 = argument
B=4s0=T
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0 Do
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r(cos 6 + i sin )

Polar Form 1+ = .zﬁ,(cqg‘f,l; +ig;n11;r)
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Homework

r = modulus
|a + bi| = [a=+1

0 = argument

x + iy
r(cos 6 + i sin 6)

Polar Form

Homework

r = modulus
& + bi| = Ja* +b*

6 = argument

x + iy
r(cos 6 + isin 6)

Polar Form
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Write the following in Polar Form
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Write the following in Polar Form
(®d -2+if2

r=\§2"+ﬁ’ = (t2 = (G

&Ni +0hﬂ~ = S’L/q_
— = for (2 /2)
Mk \ L= 0L

= w-04615= 2.5%

angle is usually nicer!

-1+i§a = Sl(cos 15% +iSin Ms)
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Homework Write the following in Polar Form

@ £ -3
r = modulus (1’) (ﬁ \‘ %_ \r ~|
|a + bi| = [a=+b*
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37 =T/3
x + iy bzav-11/3 = 57 L2
r(cos 6 + isin 6)
Polar Form LS = (Los BT +iSin Err)
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Homework Write the following in Polar Form

expand @ () +|\S§ )2

Grb)” = &> * 26k + b~

= | 4281 +5%F
= -2 +28%
r = modulus
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r(cos @ + i sin 0)

Polar Form (\ -l—i\Y'3)1 = U (cbs 1—% +1SIn 1%)
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